
Chiffres Romains (C)
Faites la conversion entre les numéraux arabes et romains ci-dessous.

CXLI = 141 CDI =

CCXLIV = CMXXX =

DCVCI = CXXV =

DCCCVII = CXCIII =

DXCIII = CCLXXXV =

CCCLXVI = 366 = 887

= 225 = 611

= 356 = 128

= 568 = 615

= 275 = 952
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Chiffres Romains (C) Solutions
Faites la conversion entre les numéraux arabes et romains ci-dessous.

CXLI = 141 CDI = 401

CCXLIV = 244 CMXXX = 930

DCVCI = 696 CXXV = 125

DCCCVII = 807 CXCIII = 193

DXCIII = 593 CCLXXXV = 285

CCCLXVI = 366 DCCCLXXXVII = 887

CCXXV = 225 DCXI = 611

CCCLVI = 356 CXXVIII = 128

DLXVIII = 568 DCXV = 615

CCLXXV = 275 LMII = 952
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